

# Constructions of Some Algebraic Structures from Each Other

Imtiaz Ahmad<sup>1</sup> and Muhammad Rashad

Department of Mathematics  
University of Malakand, Chakdara Dir(L), Pakistan  
iahmad@uom.edu.pk, rashad@uom.edu.pk

Muhammad Shah

Department of Mathematics  
Govt Post Graduate College Mardan, Pakistan  
shahmaths\_problem@hotmail.com

## Abstract

We show that various classes of algebraic structures such as paramedial groupoid and AG-groupoid, AG-groupoid and commutative medial, paramedial groupoid and medial, paramedial AG-groupoid and commutative semigroup, AG<sup>\*\*</sup>-groupoid and commutative semigroup are obtainable from each other.

**Mathematics Subject Classification:** 20N99

**Keywords:** AG-groupoid, paramedial AG-groupoid, medial groupoid, AG<sup>\*\*</sup>-groupoid, commutative semigroup, construction

## 1 Introduction

Construction of algebraic structure is always important as well as a challenging task. In this paper we show how and on what conditions some specific groupoids can be obtained from the other known groupoids. Thus we will show paramedial groupoid and AG-groupoid, AG-groupoid and commutative medial, paramedial groupoid and medial, paramedial AG-groupoid and commutative semigroup, AG<sup>\*\*</sup>-groupoid and commutative semigroup can be obtained from each other either by defining a new operation or through some

---

<sup>1</sup>Imtiaz Ahmad thanks the Vice Chancellor, University of Malakand, for providing laptops and other research facilities to the Department of Mathematics.

specific endomorphism.

A **groupoid** is a pair  $(S, \cdot)$  consisting of a non-empty set  $S$  called carrier and a binary operation  $(\cdot)$  in  $S$ . In other words,  $(S, \cdot)$  is a groupoid if  $\forall a, b \in S, a \cdot b \in S$ .  $a \cdot b$  will be simply written as  $ab$ . Also we will denote a groupoid by  $S$ . An element  $e$  of  $S$  is called its **left identity** if  $ea = a, \forall a \in S$ .  $S$  is called **commutative** if  $ab = ba, \forall a, b \in S$ .  $S$  is called a **semigroup**, if  $(\cdot)$  is associative:  $a(bc) = (ab)c, \forall a, b, c \in S$ .  $S$  is called a **Abel Grassmann groupoid**, abbreviated as AG-groupoid, if it satisfies the left invertive law:  $(ab)c = (cb)a, \forall a, b, c \in S$ .  $S$  is called a **medial** if  $(\cdot)$  satisfies the medial law:  $(ab)(cd) = (ac)(bd), \forall a, b, c, d \in S$ .  $S$  is called **paramedial** if  $(\cdot)$  satisfies the paramedial law:  $(ab)(cd) = (db)(ca), \forall a, b, c \in S$ . An AG-groupoid  $S$  is called **AG\*-groupoid** if  $(ab)c = b(ac), \forall a, b, c \in S$ . An AG-groupoid  $S$  is called **AG\*\*-groupoid** if  $a(bc) = b(ac), \forall a, b, c \in S$ . An AG-groupoid  $S$  which is also paramedial is called paramedial AG-groupoid. An AG-groupoid with left identity is called AG-monoid. For some recent study of AG-groupoids we refer to [5, 4].

An AG-groupoid always satisfies the medial law [1, Proposition 2.1].  
If  $S$  is an **AG\*-groupoid** then the following are equivalent:

$$(ab)c = b(ac), (ab)c = b(ca)$$

$S$  with left identity  $e$  always satisfies the paramedial law [1].

If  $S$  is an AG\*\*-groupoid then  $(ab)(cd) = (db)(ca)$  [3].

Every AG-monoid is AG\*\*-groupoid.

## 2 Construction of algebraic structures from each other

**Theorem 2.1.** *Let  $(S, \cdot)$  be a paramedial groupoid. Define  $*$  on  $S$  as  $x*y = x(cy)$ , for some fixed  $c \in S$ . Then  $(S, *)$  is an AG groupoid. In addition if  $(S, \cdot)$  satisfies the identity  $a(bc) = b(ac)$  then  $(S, *)$  becomes AG\*\*-groupoid.*

*Proof.* Let  $x, y, z \in S$ . Then by definition of  $(*)$ , we have

$$\begin{aligned} (x * y) * z &= (x(cy))(cz) \\ &= (z(cy))(cx) \text{ by paramedial law} \\ &= (z * y) * x \end{aligned}$$

Thus  $(S, *)$  satisfies left invertive law and hence is an AG-groupoid. Now let  $(S, \cdot)$  satisfies  $a(bc) = b(ac), \forall a, b, c \in S$ . Then by repeated use of  $a(bc) = b(ac)$  we have

$$\begin{aligned} x * (y * z) &= x(c(y(cz))) \\ &= y(c(x(cz))) \\ &= y * (x * z) \end{aligned}$$

Hence  $(S, *)$  is an  $AG^{**}$ -groupoid. □

**Theorem 2.2.** *Let  $(S, *)$  be an  $AG$ -groupoid. Define  $(\cdot)$  as  $x \cdot y = \alpha(x) * \beta(y)$ , where  $\alpha, \beta \in \text{End}(S)$ . Then*

1.  $(S, \cdot)$  is paramedial groupoid if  $\alpha^2 = \beta^2$  and if any of the following holds.
  - (a)  $(S, *)$  is an  $AG^{**}$ -groupoid,
  - (b)  $(S, *)$  is an  $AG^*$ -groupoid.
2.  $(S, \cdot)$  is paramedial groupoid if  $\alpha^2, \beta^2$  are constant.

*Proof.* 1. Let  $(S, *)$  be an  $AG$ -groupoid and

- (a) Let  $(S, *)$  be an  $AG^{**}$ -groupoid and let  $a, b, c, d \in S$ . Then by definition of  $(\cdot)$ , we have

$$\begin{aligned} (ab)(cd) &= \alpha(\alpha(a) * \beta(b)) * \beta(\alpha(c) * \beta(d)) \\ &= (\alpha^2(a) * \alpha\beta(b)) * (\beta\alpha(c) * \beta^2(d)) \end{aligned} \quad (1)$$

Similarly again by definition of  $(\cdot)$ ,  $AG^*$ -groupoid and left invertive law, we have

$$\begin{aligned} (db)(ca) &= \alpha(\alpha(d) * \beta(b)) * \beta(\alpha(c) * \beta(a)) \\ &= (\alpha^2(d) * \alpha\beta(b)) * (\beta\alpha(c) * \beta^2(a)) \\ &= (\beta\alpha)(c) * [(\alpha^2(d) * \alpha\beta(b)) * \beta^2(a)] \\ &= (\beta\alpha)(c) * ((\beta^2(a) * \alpha\beta(b)) * \alpha^2(d)) \\ &= (\beta^2(a) * \alpha\beta(b)) * (\beta\alpha(c) * \alpha^2(d)) \end{aligned} \quad (2)$$

From (1) and (2)  $(S, \cdot)$  is paramedial  $\iff \alpha^2 = \beta^2$

- (b) Let  $(S, *)$  be an  $AG^*$ -groupoid and let  $a, b, c, d \in S$ . Then by definition of  $(\cdot)$ , medial law, left invertive law and definition of  $AG^*$ -

groupoid we have

$$\begin{aligned}
 (ab)(cd) &= \alpha(\alpha(a) * \beta(b)) * \beta(\alpha(c) * \beta(d)) \\
 &= (\alpha^2(a) * \alpha\beta(b)) * (\beta\alpha(c) * \beta^2(d)) \\
 &= (\alpha^2(a) * \beta\alpha(c)) * (\alpha\beta(b) * \beta^2(d)) \\
 &= [(\alpha\beta(b) * \beta^2(d)) * \beta\alpha(c)] * \alpha^2(a) \\
 &= [\beta^2(d) * (\alpha\beta(b) * \beta\alpha(c))] * \alpha^2(a) \\
 &= [\alpha^2(a) * (\alpha\beta(b) * \beta\alpha(c))] * \beta^2(d) \\
 &= (\alpha\beta(b) * \beta\alpha(c)) * (\alpha^2(a) * \beta^2(d)) \quad (3)
 \end{aligned}$$

Similarly applying left invertive law, medial law and definition of AG\*-groupoid, we have

$$\begin{aligned}
 (db)(ca) &= \alpha(\alpha(d) * \beta(b)) * \beta(\alpha(c) * \beta(a)) \\
 &= (\alpha^2(d) * \alpha\beta(b)) * (\beta\alpha(c) * \beta^2(a)) \\
 &= [(\beta\alpha(c) * \beta^2(a)) * \alpha\beta(b)] * \alpha^2(d) \\
 &= [(\alpha\beta(b) * \beta^2(a)) * \beta\alpha(c)] * \alpha^2(d) \\
 &= [\beta^2(a) * (\alpha\beta(b) * \beta\alpha(c))] * \alpha^2(d) \\
 &= (\alpha\beta(b) * \beta\alpha(c)) * (\beta^2(a) * \alpha^2(d)) \quad (4)
 \end{aligned}$$

From (3) and (4),  $(S, \cdot)$  is paramedial  $\iff \alpha^2 = \beta^2$

2. Let  $(S, *)$  be an AG-groupoid and let  $a, b, c, d \in S$ . Then by definition of  $(\cdot)$  and left invertive law, we have

$$\begin{aligned}
 (ab)(cd) &= \alpha(\alpha(a) * \beta(b)) * \beta(\alpha(c) * \beta(d)) \\
 &= (\alpha^2(a) * \alpha\beta(b)) * (\beta\alpha(c) * \beta^2(d)) \\
 &= [(\beta\alpha(c) * \beta^2(d)) * \alpha\beta(b)] * \alpha^2(a) \quad (5)
 \end{aligned}$$

Similarly by definition of  $(\cdot)$  and left invertive law, we have

$$\begin{aligned}
 (db)(ca) &= \alpha(\alpha(d) * \beta(b)) * \beta(\alpha(c) * \beta(a)) \\
 &= (\alpha^2(d) * \alpha\beta(b)) * (\beta\alpha(c) * \beta^2(a)) \\
 &= [(\beta\alpha(c) * \beta^2(a)) * \alpha\beta(b)] * \alpha^2(d) \quad (6)
 \end{aligned}$$

From (5) and (6),  $(S, \cdot)$  is paramedial if  $\alpha^2(a) = \alpha^2(d)$  and  $\beta^2(d) = \beta^2(a)$  i.e.  $\alpha^2$  and  $\beta^2$  are constant. □

**Theorem 2.3.** *Let  $(S, \cdot)$  be an AG-groupoid. Define  $(*)$  as  $x * y = (xp)y$  where  $p$  is any constant. Then  $(S, *)$  is commutative medial.*

*Proof.* Let  $(S, \cdot)$  be an AG-groupoid. and let  $a, b, c, d \in S$ . Then by definition of  $(*)$ , we have

$$x * y = (xp)y = (yp)x = y * x$$

Now by repeated use of medial law, we have

$$\begin{aligned} (a * b) * (c * d) &= (((ap)b)p)((cp)d) \\ &= [((ap)b)(cp)](pd) \\ &= [((ap)c)(bp)](pd) \\ &= [((ap)c)p]((bp)d) \\ &= (a * c) * (b * d) \end{aligned}$$

Thus  $(S, *)$  is commutative medial. □

**Theorem 2.4.** *Let  $(S, +)$  be commutative medial. Define  $(\cdot)$  as  $x \cdot y = \alpha(x) + \beta(y)$ ,  $\alpha, \beta \in \text{End}(S)$ , such that  $\alpha^2, \beta$  are constant. Then  $(S, \cdot)$  is AG-groupoid.*

*Proof.* Let  $(S, +)$  be a commutative medial and let  $x, y, z \in S$ . Then by definition of  $(\cdot)$ , we have

$$\begin{aligned} (xy)z &= \alpha(\alpha(x) + \beta(y)) + \beta(z) \\ &= (\alpha^2(x) + \alpha\beta(y)) + \beta(z) \end{aligned} \quad (7)$$

Similarly,

$$\begin{aligned} (zy)x &= \alpha(\alpha(z) + \beta(y)) + \beta(x) \\ &= (\alpha^2(z) + \alpha\beta(y)) + \beta(x) \end{aligned} \quad (8)$$

From (7) and (8),  $(S, \cdot)$  is AG-groupoid if and only if  $\alpha^2(x) = \alpha^2(z), \beta(x) = \beta(z)$  that is if and only if  $\alpha^2$  and  $\beta$  are constant. □

**Theorem 2.5.** *Let  $(S, \cdot)$  be a paramedial groupoid. Define  $(*)$  as  $a * b = a(pb)$ , where  $p$  is any fixed. Then  $(S, *)$  is medial.*

*Proof.* Let  $(S, \cdot)$  be a paramedial groupoid and let  $a, b, c, d \in S$ . Then by definition of  $(*)$  and repeated use of paramedial law, we have

$$\begin{aligned} (a * b) * (c * d) &= (a(pb))(p(c(pd))) \\ &= (a((pc))(p(b(pd)))) \\ &= (a * c) * (b * d) \end{aligned}$$

Hence  $(S, *)$  is medial. □

**Theorem 2.6.** *Let  $(S, *)$  is medial. Define  $(\cdot)$  as  $x \cdot y = \alpha(x) * \beta(y)$ , where  $\alpha, \beta \in \text{End}(S)$ , such that  $\alpha^2, \beta^2$  are constant. Then  $(S, \cdot)$  is paramedial.*

*Proof.* Let  $(S, *)$  be a medial and let  $a, b, c, d \in S$ . Then by definition of  $(\cdot)$ , we have

$$\begin{aligned} (ab) \cdot (cd) &= \alpha[\alpha(a) * \beta(b)] * \beta[\alpha(c) * \beta(d)] \\ &= (\alpha^2(a) * \alpha\beta(b)) * (\beta\alpha(c) * \beta^2(d)) \end{aligned} \quad (9)$$

Similarly

$$\begin{aligned} (db) \cdot (ca) &= \alpha[\alpha(d) * \beta(b)] * \beta[\alpha(c) * \beta(a)] \\ &= (\alpha^2(d) * \alpha\beta(b)) * (\beta\alpha(c) * \beta^2(a)) \end{aligned} \quad (10)$$

From (9) and (10),  $(S, \cdot)$  is paramedial  $\iff \alpha^2(a) = \alpha^2(d)$  and  $\beta^2(a) = \beta^2(d)$ , that is  $\iff \alpha^2$  and  $\beta^2$  are constant.  $\square$

**Theorem 2.7.** *Let  $(S, \cdot)$  be paramedial AG-groupoid. Define  $(*)$  as  $a * b = (ap)b$ , where  $p$  is fixed. Then  $(S, *)$  is commutative semigroup.*

*Proof.* Let  $a, b, c \in S$ . Then by definition of  $(*)$  and by left invertive law, we have

$$(a * b) = (ap)b = (bp)a = b * a$$

Now by repeated use of left invertive law and paramedial law

$$\begin{aligned} (a * b) * c &= (((ap)b)p)c \\ &= (cp)((bp)a) \\ &= (ap)((bp)c) \\ &= a * (b * c) \end{aligned}$$

Hence  $(S, *)$  is commutative semigroup.  $\square$

**Theorem 2.8.** *Let  $(S, +)$  be commutative semigroup. Define  $(\cdot)$  as  $x \cdot y = \alpha(x) + \beta(y)$ , where  $\alpha, \beta \in \text{End}(S)$ , such that  $\alpha^2 = \beta^2 = \beta$  or  $\beta$  is constant. Then  $(S, \cdot)$  is paramedial AG-groupoid.*

*Proof.* Let  $(S, +)$  be a commutative semigroup and let  $a, b, c \in S$ . Then by definition of  $(\cdot)$ , we have

$$\begin{aligned} (ab)c &= \alpha[\alpha(a) + \beta(b)] + \beta(c) \\ &= (\alpha^2(a) + \alpha\beta(b)) + \beta(c) \end{aligned} \quad (11)$$

Similarly,

$$\begin{aligned} (cb)a &= \alpha[\alpha(c) + \beta(b)] + \beta(a) \\ &= (\alpha^2(c) + \alpha\beta(b)) + \beta(a) \end{aligned} \quad (12)$$

From (11) and (12),

$$(ab)c = (cb)a \iff \alpha^2(a) + \beta(c) = \alpha^2(c) + \beta(a)$$

$$\iff (1) \alpha^2(a) = \alpha^2(c) \text{ and } \beta(a) = \beta(c)$$

$$\iff \alpha^2 \text{ and } \beta \text{ are constant}$$

and

$$\begin{aligned} (ab)(cd) &= \alpha[\alpha(a) + \beta(b)] + \beta[\alpha(c) + \beta(d)] \\ &= \alpha^2(a) + \alpha\beta(b) + \beta\alpha(c) + \beta^2(d) \end{aligned}$$

Similarly,

$$\begin{aligned} (db) \cdot (ca) &= \alpha[\alpha(d) + \beta(b)] + \beta[\alpha(c) + \beta(a)] \\ &= \alpha^2(d) + \alpha\beta(b) + \beta\alpha(c) + \beta^2(a) \end{aligned}$$

$$(ab) \cdot (cd) = (db) \cdot (ca) \iff \alpha^2(a) + \beta^2(d) = \alpha^2(d) + \beta^2(a)$$

$$\iff (3) \alpha^2 = \beta^2 \text{ or } (4) \alpha^2 \text{ and } \beta^2 \text{ are constant.}$$

Thus the claim holds  $\iff \beta^2 = \beta$  or  $\beta$  is constant.  $\square$

**Theorem 2.9.** *Let  $(S, \cdot)$  be an  $AG^{**}$ -groupoid. Define  $(*)$  as  $x * y = (xc)y$  where  $c$  is fixed. Then  $(S, *)$  is commutative semigroup.*

*Proof.* Let  $(S, \cdot)$  be an  $AG^{**}$ -groupoid and let  $x, y, z \in S$ . Then by definition of  $(*)$ , we have

$$x * y = (xp)y = (yp)x = y * x$$

Now by left invertive law and definition of  $AG^{**}$ -groupoid, we have

$$\begin{aligned} (x * y) * z &= (((xc)y)c)z \\ &= (zc)((xc)y) \\ &= (xc)((zc)y) \\ &= (xc)((yc)z) \\ &= x * (y * z) \end{aligned}$$

Thus  $(S, *)$  is commutative semigroup.  $\square$

**Theorem 2.10.** *Let  $(S, +)$  be commutative semigroup. Define  $(\cdot)$  as  $a \cdot b = \alpha(a) + \beta(b)$ , where  $\alpha, \beta \in \text{End}(S)$ , such that  $\alpha^2 = I$  or  $\beta$  and  $\beta$  is constant. Then  $(S, \cdot)$  is  $AG^{**}$ -groupoid.*

*Proof.* Let  $(S, +)$  is commutative semigroup and let  $a, b, c, \in S$ . Then by definition of  $(\cdot)$ , we have

$$\begin{aligned}(ab) \cdot c &= \alpha[\alpha(a) + \beta(b)] + \beta(c) \\ &= (\alpha^2(a) + \alpha\beta(b)) + \beta(c)\end{aligned}\quad (13)$$

Similarly by commutativity and associativity property of  $(S, +)$

$$\begin{aligned}(cb) \cdot a &= \alpha[\alpha(c) + \beta(b)] + \beta(a) \\ &= (\alpha^2(c) + \alpha\beta(b)) + \beta(a)\end{aligned}\quad (14)$$

$$= (\beta(a) + \alpha\beta(b)) + \alpha^2(c)\quad (15)$$

From (13) and (15)

$$(S, \cdot) \text{ is an AG-groupoid} \iff \alpha^2 = \beta \text{ or } \alpha^2 \text{ and } \beta \text{ are constant.}$$

Next

$$\begin{aligned}a(bc) &= \alpha(a) + \beta(\alpha(b) + \beta(c)) \\ &= \alpha(a) + (\beta\alpha(b) + \beta^2(c))\end{aligned}\quad (16)$$

Similarly by commutativity and associativity of  $(S, +)$

$$\begin{aligned}b(ac) &= \alpha(b) + \beta(\alpha(a) + \beta(c)) \\ &= \alpha(b) + (\beta\alpha(a) + \beta^2(c)) \\ &= \beta\alpha(a) + (\alpha(b) + \beta^2(c))\end{aligned}\quad (17)$$

From(16) and (17)  $a(bc) = b(ac) \iff \beta = \alpha$  or  $\alpha$  and  $\beta\alpha$  are constant.

Hence  $(S, \cdot)$  is an AG\*\* -groupoid.  $\square$

## References

- [1] J. R. Cho, Pusan, J. Jezek and T. Kepka, Paramedial Groupoids, Czechoslovak Mathematical Journal, 49(124)(1996), Praha.
- [2] M. A. Kazim and M. Naseerudin, On almost semigroups, Portugaliae Mathematica. Vol. 36-Fase. 1 – 1977.
- [3] P. V. Protic and M. Bozinovic, Some congruences on an AG\*\* -groupoid, Algebra Logic and Discrete Mathematics, Nis, 3, 9(1995), 371-383.
- [4] M. Shah, A. Ali, Some structural properties of AG-group, Int. Math. Forum, Vol. 6, 2011, no. 34, 1661 – 1667.
- [5] M. Shah and T. Shah and A. Ali, On the cancellativity of AG-groupoids, Int. Math. Forum, Vol. 6, 2011, no. 44, 2187 – 2194.

**Received: June, 2012**